dp = ol :Q%?)V;}’

LS. Customary

s 2
AL

d,=1075 X8
o

where:
dy = braking distance, it

Vo = design speed, mph

a = deceleration rate, fi/s*
U.S. Customary
: 2
. V“‘ St
SSD =147Vt + 1.075-2 43

44

where:
SSD = stopping sight distance, fi
I = design speed, mph
{ = hrake reaction time, 2.5 5
a = deceleration rate, fi/s?
U5, Customary
. 2z
Ve Ve
d, = Vi
£ g X T
012G
[132.2 ‘
where:

dy = braking distance on grade, ft

i = design speed, mph

i

a deceleration, fi/s?

G = grade, risefrun, ft/ft
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.5, Customary

0.01e+ fc _ v 0.0670°  ¥*

T = (3-8]
1-{3.%:;5;5 gR R ISR
where:
& = rate of roadway superelevation,
percent
fs = side friction {demand) factor
v = vehicle speed, fi/s
2 = gravitational constant, 32.2 /s
¥ = vehicle speed, mph
£ = radius of curve measured to a
vehicle's center of gravity, ft
{15, Customary
f= 7 o0t (3-7)
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U.S. Customary
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